1)

2)

3)

4)

5)

6)

Supplier's Declaration of Conformity
Material Declaration Management

SDoC No.: KM220718-01
Issuer's name : KOMATEC LLC
ssuer's address : 430-20, ULMAN-RO, KANGSEO-GU, BUSAN, KOREA

Object(s) of declaration: 1) ALL ITEMS ARE ASBESTOS FREE

(DETAILS ATTACHED)

The object(s) of the declaration described above is/are in conformity with the following
documents :

Applicable Regulations or other stipulated requirements and documents

Document No. Title Edition Date of issue
1 IMO Guidelines in Resolution MEPC.269(68) 2015 2015-05-15
2 Regulation EU No. 1257/2013 2013 2013-11-20
3 EMSA's Best Practice Guidance on the IHM 2016 2016-10-28
4 Hong Kong Convention 2009 SR/CONF/45 2009 2009-05-19

Additional Information: PO: SIM-070/2022e

Signed for and on behalf of:

Busan, Korea

Place of issue
2023 - 02 - 20

Date of issue

MR. B.S.CHO / MANAGING DIRECTOR S R Sty o

Name, Function Signature



NO [ CODE DESCRIPTION Q'TY | UNIT
REF NO.: SIM-070/2022e-0001
ENGINE STORES

2. |1 615081 |PULLER BEARING SET SIZE 00-06, FOR INNER RING 1.00 | SET

4. | 614535 |FILE NEEDLE SET 200MM 8'S, SMOOTH 1.00 | SET

5. | 614536 |FILE NEEDLE SET 200MM 8'S, DEAD-SMOOTH 1.00 | SET

6. | 614534 |FILE NEEDLE SET 200MM 8'S, SECOND-CUT 1.00 | SET

8. | 734024 [UNION FLARELESS BRASS, 1T0MMXPT3/8 10.00 [ PCE

9. [ 734025 [UNION FLARELESS BRASS, 12MMXPT1/2 10.00 | PCE
10. | 734062 |UNION TEE FLARELESS BRASS, 6MMXPF1/4 500 | PCE
11. | 734063 [UNION TEE FLARELESS BRASS, 8BMMXPF1/4 5.00 | PCE
12. | 734064 |UNION TEE FLARELESS BRASS, T0MMXPF3/8 500 | PCE
13. | 734065 |UNION TEE FLARELESS BRASS, 12MMXPF1/2 5.00 | PCE
14. | 734072 [UNION ELBOW FLARELESS BRASS, 6MMXPT1/4 500 | PCE
15. | 734073 |UNION ELBOW FLARELESS BRASS, 8BMMXPT1/4 5.00 | PCE
16. | 734074 |UNION ELBOW FLARELESS BRASS, 10MMXPT3/8 10.00 [ PCE
17. | 734075 [UNION ELBOW FLARELESS BRASS, 12MMXPT1/2 500 | PCE
18. | 690966 |HEX HEAD BOLT/NUT STEEL UNGALV, M5 X 50MM 30.00 | SET
19. | 691115 [HEX HEAD BOLT/NUT STEEL UNGALV, M6 X 50MM 30.00 | SET
20. | 691145 [HEX HEAD BOLT/NUT STEEL UNGALV, M8 X 50MM 30.00 | SET
21.]1 691183 |HEX HEAD BOLT/NUT STEEL UNGALV, M10 X 50MM 30.00 | SET
22. | 695214 |[WASHER SPRING-LOCK STEEL, M5.0 30.00 | PCE
23. | 695215 [WASHER SPRING-LOCK STEEL, M6.0 30.00 | PCE
24. |1 695216 |WASHER SPRING-LOCK STEEL, M8.0 30.00 | PCE
25. [ 695217 |[WASHER SPRING-LOCK STEEL, M10.0 30.00 | PCE
26. | 695218 [WASHER SPRING-LOCK STEEL, M12.0 30.00 | PCE
27. | 694814 |WASHER PLAIN ROUND STEEL, M5.0 30.00 | PCE
28. | 694815 [WASHER PLAIN ROUND STEEL, M6.0 30.00 | PCE
29. | 694816 |WASHER PLAIN ROUND STEEL, M8.0 30.00 | PCE
30. [ 694817 |[WASHER PLAIN ROUND STEEL, M10.0 30.00 | PCE
31. [ 694818 |[WASHER PLAIN ROUND STEEL, M12.0 30.00 | PCE
32. | 694819 |WASHER PLAIN ROUND STEEL, M14.0 30.00 | PCE
37. | 734003 [CONNECTOR MALE FLARELESS BRASS, 6MMXPT1/4 500 | PCE
38. | 734005 [CONNECTOR MALE FLARELESS BRASS, 8BMMXPT1/4 5.00 | PCE
39. | 734006 [CONNECTOR MALE FLARELESS BRASS, 10MMXPT1/4 500 | PCE
40. | 734007 |CONNECTOR MALE FLARELESS BRASS, 10MMXPT3/8 5.00 | PCE
41. | 734002 |CONNECTOR MALE FLARELESS BRASS, 6MMXPT1/8 5.00 | PCE
42. | 734004 |CONNECTOR MALE FLARELESS BRASS, 8BMMXPT1/8 500 | PCE
45. | 450702 |LUBRICANT WD-40 SPRAY 360ML 5.00 TN
46. | 471378 |TAPE MASKING PAPER 48MMXL55MTR 6.00 | NRL
47. | 471284 |TAPE SEALING CLOTH 60MMX25MTR 6.00 | NRL
48. | 510461 |BRUSH PAINT ROLLER MINI, WITH HANDLE 100MM WIDTH 5.00 | SET
49. | 510462 |SPARE MINI ROLLER 100MM WIDTH 30.00 | PCE
50. | 590721 |VACUUM CLEANER PNEUMATIC, "BLOBAC CLEANER" MODEL V-300 1.00 | SET

ANnAaA~A

Al AVIFA R RTATI IR AL L AR~

AN AN




54. | 190122 |GLOVES RUBBER NATURAL LONG 10.00 PR
55. 1 190132 |GLOVES PLASTIC OIL/ACID RESIST, LONG 5.00 PR
56. | 190101 |GLOVES WORKING COTTON ORDINARY 100.00| DZN
57. 1 174275 |SPRING CLAMP MOP COMPLETE 10.00 | PCE
59. | 616578 |WRENCH STRAP RIDGID #5, STRAP-WIDTH 1-3/4" 1.00 | PCE
60. | 610656 |WRENCH 12-POINT SINGLE END, 17MM 1.00 | PCE
61. [ 610657 [WRENCH 12-POINT SINGLE END, 19MM 1.00 | PCE
62. [ 610658 [WRENCH 12-POINT SINGLE END, 21MM 1.00 | PCE
63. | 610659 |WRENCH 12-POINT SINGLE END, 22MM 1.00 | PCE
64. [ 610661 [WRENCH 12-POINT SINGLE END, 24MM 1.00 | PCE
65. | 610663 |WRENCH 12-POINT SINGLE END, 27MM 1.00 | PCE
66. [ 610665 [WRENCH 12-POINT SINGLE END, 30MM 1.00 | PCE
67. | 610666 [WRENCH 12-POINT SINGLE END, 32MM 1.00 | PCE
68. | 616787 |TUBE BENDER LEVER TYPE RIDGID, #408M 8MM 1.00 | SET
69. [ 616789 [TUBE BENDER LEVER TYPE RIDGID, #412M 12MM 1.00 | SET
70. | 650653 [DRILL GAUGE 1-13MM, 0.5MM INTERVAL **OFFER: #65-06-55 1.00 | PCE
71. | 650503 [CALIPER VERNIER STAINLESS, STEEL METRIC 200MM 1.00 | PCE
73. | 650563 [THICKNESS GAUGE #100A25, 0.03-1.0MM 100MM LENGTH 1.00 | PCE
74. | 653104 |GAUGE PRESSURE W/GLYCERINE, BOTTOM/DIRECT -1-3BAR 63MM 1.00 | PCE
76. | 653161 |GAUGE PRESSURE W/GLYCERINE, BOTTOM/BACK -1-9BAR 80MM 400 | PCE
77. | 653176 |GAUGE PRESSURE W/GLYCERINE, BOTTOM/BACK 0-25BAR 80MM 4.00 | PCE
79. | 653123 |GAUGE PRESSURE W/GLYCERINE, BOTTOM/DIRECT 0-16BAR 80MM 4.00 | PCE
86. | 653116 [GAUGE PRESSURE W/GLYCERINE, BOTTOM/DIRECT 0-6BAR 63MM 500 | PCE
88. | 653166 |GAUGE PRESSURE W/GLYCERINE, BOTTOM/BACK 0-6BAR 63MM 3.00 | PCE
89. | 653119 |GAUGE PRESSURE W/GLYCERINE, BOTTOM/DIRECT 0-10BAR 63MM 3.00 | PCE
90. | 653122 |GAUGE PRESSURE W/GLYCERINE, BOTTOM/DIRECT 0-16BAR 63MM 4.00 | PCE
91. | 653158 |GAUGE PRESSURE W/GLYCERINE, BOTTOM/BACK -1-5BAR 80MM 6.00 | PCE
93. | 610405 [RATCHET HANDLE MALE, 12.7MM/SQ DRIVE 270MM 3.00 | PCE
94. | 592072 BRUSH WIRE CUP CRIMPED 80MMDIA, FOR DERUSTING BRUSH 1000 | pcE
MAG9000
95. | 653170 |GAUGE PRESSURE W/GLYCERINE, BOTTOM/BACK 0-10BAR 80MM 6.00 | PCE
96. | 610486 |WRENCH STUD REMOVER 1/2", SQ DRIVE F/BOLT SIZE 8-19MM 1.00 | PCE
97. | 650383 |[MICROMETER OUTSIDE 150-300MM, W/INTERCHANGEABLE ANVILS 1.00 | SET
98. | 653169 [GAUGE PRESSURE W/GLYCERINE, BOTTOM/BACK 0-10BAR 63MM 3.00 | PCE
101. [ 510667 [BRUSH HAND BRASS, STRAIGHT HANDLE 500 | PCE
102. | 510663 |BRUSH WIRE STRAIGHT HANDLE, 350MM 500 | PCE
103. [ 510786 [BRUSH WIRE WHEEL OD50MM, WITH 6MM ARBOR 20.00 | PCE
104. | 510787 |BRUSH WIRE CUP OD50MM, WITH 6MM ARBOR 20.00 | PCE
106. | 510167 |BRUSH RADIATOR ANGLE(DOG LEG), 50MM WIDTH 30.00 | PCE
107. [ 510103 [BRUSH PAINT FLAT 50MM WIDTH 10.00 | PCE
108. | 510653 |BRUSH HAND SCRUB NYLON SQUARE 3.00 | PCE
109. [ 174296 [SPONGE MOP WITH SPRING HANDLE 3.00 [ PCE
110. | 510761 |WIRE CUP BRUSH STANDARD, 75MMX5/8 15.00 [ PCE
111. ] 351223 |COUPLER QUICK- CONNECT, STAINLESS STEEL 40SH 1/2" 10.00 [ PCE
112. [ 351253 [COUPLER QUICK- CONNECT, STAINLESS STEEL 40PH 1/2" 10.00 | PCE




113. 1 331157 |EAR PLUG FOR HIGH PITCH NOISE 20.00 | PCE
115. 1 350102 |HOSE AIR RUBBER 15KG 9MMX2B 100.00( MTR
116. [ 351653 [LINE COUPLER BRANCH PIPING, 200L 4X20SM / 1X40SM & 1X400PM 2.00 SET
117. | 734407 |UNION REDUCING STAINLESS STEEL, FLARELESS 8MMX10MM 5.00 | PCE
118. | 734408 UNION REDUCING STAINLESS STEEL, FLARELESS TOMMX12MM 500 | pcE
gas ana
119. | 730547 |SOCKET MALLEABLE CAST IRON, BLACK 1/4 5.00 | PCE
120. | 730548 |SOCKET MALLEABLE CAST IRON, BLACK 3/8 5.00 PCE
121. [ 730549 |SOCKET MALLEABLE CAST IRON, BLACK 1/2 5.00 | PCE
122. | 730787 |NIPPLE SHORT CARBON STEEL, BLACK 1/4 5.00 | PCE
123. | 730788 |NIPPLE SHORT CARBON STEEL, BLACK 3/8 5.00 PCE
124. | 730789 [NIPPLE SHORT CARBON STEEL, BLACK 1/2 5.00 | PCE
125. 1 730616 |BUSHING HEXAGON MALLEABLE CAST, IRON BLACK 1/4X1/8 5.00 | PCE
126. | 730617 |BUSHING HEXAGON MALLEABLE CAST, IRON BLACK 3/8X1/4 5.00 | PCE
127. 1 730618 |BUSHING HEXAGON MALLEABLE CAST, IRON BLACK 1/2X3/8 5.00 | PCE
128. | 730619 |BUSHING HEXAGON MALLEABLE CAST, IRON BLACK 3/4X1/2 5.00 PCE
129. [ 730941 |NIPPLE HEXAGON REDUCING BLACK, MALLEABLE CAST IRON 3/8X1/4 | 5.00 | PCE
130. | 730942 |NIPPLE HEXAGON REDUCING BLACK, MALLEABLE CAST IRON 1/2X3/8 | 5.00 PCE
131. | 730943 |NIPPLE HEXAGON REDUCING BLACK, MALLEABLE CAST IRON 3/4X1/2 | 5.00 | PCE
132. | 653112 |GAUGE PRESSURE W/GLYCERINE, BOTTOM/DIRECT -1-9BAR 100MM 3.00 | PCE
133. | 692935 |HEX HEAD BOLT/NUT STAINLESS, STEEL M16 X 120MM 16.00 | SET
134. | 450630 |DETECTOR SYSTEM FLAW & CRACK, SPANJAARD 350ML X 3S 3.00 SET
135. | 450520 |MOLYKOTE 1000 SPRAY 300ML 3.00 | CA
136. | 673405 |ZINC CASTING ROUND SOLID, 40X300MM 3.00 LN
137. 1 673410 |ZINC CASTING ROUND SOLID, 65X300MM 3.00 LN
138. | 692984 |HEX HEAD BOLT/NUT STAINLESS, STEEL M20 X 160MM 24.00 | SET
139. | 751702 |GLOBE HOSE VALVE BRONZE, FLANGE&SCREW F7334 10KG-15MM 3.00 | PCE
140. | 751707 |ANGLE HOSE VALVE BRONZE, FLANGE&SCREW F7334 10KG-15MM 3.00 PCE
141. [ 750133 |ANGLE VALVE BRONZE FLANGED-END, F7302 5KG-25MM 2.00 | PCE
142. | 750125 |GLOBE VALVE BRONZE FLANGED-END, F7301 5KG-40MM 2.00 PCE
143. | 812344 WENCON PIPE TAPE QUICK CURE, #1045 5X150CM 5UNIT/SET 500 SET
**LOCAL
JOINT SHT GASKET PILLAR #5611, NON-ASBESTOS 2.0X1200X1200MM
144. |1 811075 3.00 ST
**OFFER: 2Tx1270x1270
145. 1 811113 |JOINT SHEET NATURAL RUBBER, 2.0X1000X1000MM 2.00 | MTR
146. | 811112 |JOINT SHEET NATURAL RUBBER, 1.5X1000X1000MM 3.00 | MTR
147. 1 813102 |AIR FILTER 15X1600MM 30.00 | MTR
148. | 550108 |SOAP POWDER LAUNDRY 10KGS 10.00 cT
149. [ 232520 |OIL ABSORBENT ROLL W965MMX20MTR 2.00 | NRL
150. | 232907 |RAG COTTON OVER 90% STERILIZED, WHITE 250.00] KGM




BAG SLUDGE POLYPROPYLENE, W/INNER BAG W600MMXL1000MM

151. | 232940 100.00( PCE
152. | 812787 |GLUE CYANOACRYLATE LOCTITE 401, INSENSITIVE INSTANT 20GRM 5.00 BO
STENCIL LETTER ADJUSTABLE, BRASS A-Z & 0-9 45MM 76'S **OFFER:

153. | 613136 1.00 SET

50mm, 45'S
154. | 813065 |RUBBER STRING 10MM DIAM 30.00 | MTR
RIVET BLIND OPENTYPE ALUM-BODY, STEEL- MANDREL 2.4X5.7MM
155. | 615236 1.00 PA
100'S
RIVET BLIND OPENTYPE ALUM-BODY, STEEL- MANDREL 3.2X6.3MM
156. | 615238 1.00 PA
60'S
RIVET BLIND OPENTYPE ALUM-BODY, STEEL- MANDREL 3.2X9.8MM
157. | 615240 1.00 PA
60'S
RIVET BLIND OPENTYPE ALUM-BODY, STEEL- MANDREL 4.0X8.6MM
158. | 615242 1.00 PA
50'S
RIVET BLIND OPENTYPE ALUM-BODY, STEEL- MANDREL 4.0X14.0MM
159. | 615244 1.00 PA
50'S
RIVET BLIND OPENTYPE ALUM-BODY, STEEL- MANDREL 4.8X7.5MM
160. | 615245 1.00 PA
40'S
RIVET BLIND OPENTYPE ALUM-BODY, STEEL- MANDREL 4.8X11.1MM
161. | 615247 1.00 PA
40'S
162. | 614033 |CLAMP STEEL PLATE LIFTING, CAPACITY 3TON 2.00 PCE
163. | 650868 |TAPE OIL GAUGE STEEL, BLACK TAPE MM&INCH 30MTR/100' 3.00 PCE
164. | 611281 |WRENCH SET ALLEN HEXAGON, 2.5-12MM 8'S 2.00 SET
165. | 611287 |BIT SET HEXAGON 3- 10MM, 6 BITS & 6 TOOLS 1.00 SET
166. | 611288 |BIT SET HEXAGON 6- 17MM, 6 BITS & 6 TOOLS 1.00 SET
167. | 611641 |[PLIER VISE-GRIP COMBINATION, 125MM 2.00 PR
168. | 611642 |PLIER VISE-GRIP COMBINATION, 175MM 2.00 PR
169. | 611686 |PLIER LONG NEEDLE NOSE, PLASTIC COVERED HANDLE 125MM 2.00 PR
170. | 612724 |HAMMER PLASTIC REPLACEABLE, WITH HANDLE NO.2 (0.98KGS) 3.00 PCE
171. | 612754 |HAMMER RUBBER HANDLED, 67MM DIAM NO.1-1/2 (0.82KGS) 2.00 PCE
172. | 613089 [CHISEL & PUNCH SET COMBINATION, 150MM 12'S 1.00 SET
173. | 614103 |BANDING BAND STAINLESS STEEL, 6.4AMMX30MTR 1.00 | NRL
174. | 614104 |BANDING BAND STAINLESS STEEL, 9.5MMX30MTR 1.00 | NRL
175. | 614109 |BANDING BUCKLE STAINLESS STEEL, 6.4AMMX100PCS 1.00 BX
176. | 614110 |BANDING BUCKLE STAINLESS STEEL, 9.5MMX100PCS 1.00 BX
178. [ 550351 [METAL POLISH LIQUID 300GRM **250g 2.00 TN
180. | 614019 |WING PUMP HAND OPERATE, FOR 50MM PIPE 1.00 PCE
181. | 672707 |BRONZE CASTING ROUND SOLID, 50X300MM 3.00 LN
183. | 871804 |TAPE ANTI-SPLASHING, T00MMX10MTR NK/UK/ABS/LRS/BV 5.00 [ NRL
184. | 174177 |PAPER BAG RESIN COATED 25LTR, 370X650X125MM 100.00( PCE
185. | 673901 [IMPA-673901 GAUZE WIRE, STAINLES STEEL 12.00 | MTR
IMPA-694201 CROSS- RECESSED HEAD COUNTERSUNK FLAT
186. | 694201 100.00( PCE
MACHINE SCREW, M8x1,25, 25mm
ANGLE VALVE SCREW DOWN CHECK, BRONZE FLANGED F7410 16KG-
187. | 751084 2.00 PCE

32MM




